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= = T HVE 7 e HVE T = = T HVE = e HVE =S| =
] 100kN/mi#%#8%%| 1.00] 0.00 ~ 0.69 111.69 [3mZ#BZ 5 -~ - - —| 100kN/mi%#%%| 1.00 |[16.91 ~ 25.12 111.69 [3mZ#BZ 5 -~ — — —
Th s 100| 069 ~ 7.38 100.00 | Zhlust | 000 ~ 7.38 | 2.77 12.21 ZhLlst 100 | 500 ~ 16.91 100.00 | Zhlust | 500 ~ 2512 | 2.77 12.21
) 100kN/mi#%#8%%| 1.00] 0.00 ~ 0.88 114.94 |3mZ#BZ 5 -~ - - —| 100kN/mi%#8 %% | 1.00 |13.63 ~ 19.03 114.94 |3mZ#BZ 5 -~ — — —
Th s 100| 088 ~ 757 100.00 | Zhlust | 000 ~ 757 2.29 10.06 ZhLst 100 | 500 ~ 13.63 100.00 | Zh a5t | 500 ~ 19.03 | 2.29 10.06
3 100kN/mi#%#8%%| 1.00] 0.00 ~ 0.88 114.86 [3mZ#BZ 5 -~ - - —| 100kN/mi%#8 %% | 1.00 |13.63 ~ 18.98 114.86 [3mZ#BZ 5 -~ — — —
Th s 100| 088 ~ 756 100.00 | ZHlust | 000 ~ 756 | 2.29 10.06 ZhLst 100 | 500 ~ 13.63 100.00 | Zh a5t | 500 ~ 18.98 | 2.29 10.06
4 100kN/mM%Z#B % % — -~ — —|3m&EEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
ZTh s 1.00| 000 ~ 6.63 99.04 | ThLls | 000 ~ 6.63| 2.14 9.42 Th s 100 | 500 ~ 1294 99.04 | Thilst | 500 ~ 1294 | 2.14 9.42
5 100kN/mM%Z#B % % — -~ — —|3m&EEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
ZTh s 100 | 000 ~ 6.15 91.26 | hLls | 000 ~ 6.15]| 2.16 9.50 Th s 100 | 500 ~ 11.02 91.26 | Thbklst | 500 ~ 11.02 | 2.16 9.50
6 100kN/mM%Z#B % % — -~ — —|3m&EEZD -~ - - —| 100kN/mi%#B %% - -~ - —|3m%EB23 -~ — — —
ZTh s 100 | 000 ~ 6.15 91.26 | hkls [ 000 ~ 000 1.75 7.70 Th s 100 | 500 ~ 11.02 91.26 | Thklst | 500 ~ 11.02| 1.75 7.70
; 100kN/mM%Z#B % % — -~ — —|3mEEZD -~ - - —| 100kN/miZ#B %% - -~ - —|3m%EB23 -~ — — —
Th s 100 | 000 ~ 6.25 9294 | hils | 000 ~ 0.00]| 1.81 7.98 Th s 100 | 500 ~ 11.11 9294 | Thils | 500 ~ 11.11 ] 1.81 7.98
8 100kN/mM#Z#B % % — -~ — —|3mEEZD -~ - - —| 100kN/M%#B 2% - -~ - —|3m%EB23 -~ — — —
Th s 1.00| 000 ~ 6.29 9353 | #hbLls | 000 ~ 0.00]| 1.86 8.17 Th s 100 | 500 ~ 11.23 9353 | Thblst | 500 ~ 11.23 | 1.86 8.17
9 100kN/mM%Z#B % % — -~ — —|3mEEZD -~ - - —| 100kN/Mi%#B %% - -~ - —|3m%EBZ3 -~ — — —
ZTh s 1.00| 000 ~ 6.29 9348 | Thils | 000 ~ 6.29| 2.29 10.08 ZhLlst 100 | 500 ~ 11.22 9348 | Thilst | 500 ~ 1122 | 2.29 10.08
10 100kN/mM%Z#B % % — -~ — —|3mEEZD -~ - - —| 100kN/mZ#B %% - -~ - —|3m%EB23 -~ — — —
Th s 1.00 | 000 ~ 467 68.50 | ¥h L5 | 000 ~ 0.00]| 1.81 7.97 ZTh s 100 | 500 ~ 7.00 68.50 | Th L5t | 500 ~ 7.00| 1.81 7.97
100kN/mM%Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
Th s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM%Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
Th s ~ Zh s ~ Th s ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZTh s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZTh s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZTh s ~ Zh s ~ ZTh s ~ Zh s ~

B
H
f



